

$$S_3 = a_1 \left(\frac{q^3 - 1}{q - 1} \right) = 11 \Rightarrow a_1 (q^2 + q + 1) = 11$$

$$a_1 a_2 \times a_3 = a_1^3 \times q^3 = 4 \times 4 \Rightarrow a_1 \times q = 4 \Rightarrow a_1 = \frac{4}{q}$$

$$4 \left(\frac{q^2 + q + 1}{q} \right) = 11 \Rightarrow 4(q^2 + q + 1) = 11q$$

$$4q^2 - 17q + 4 = 0 \Rightarrow (4q - 1)(q - 4) = 0$$

$$\rightarrow q = 4 \rightarrow \text{حساب} \rightarrow X$$

$$\boxed{q = \frac{1}{4}} \checkmark$$

۱

$$n^2 + 2, 2n, n^2 - 2 \quad \text{در حالت متناهی} \quad \Rightarrow q, K1$$

$$\frac{2n}{n^2 + 2} = \frac{n^2 - 2}{2n} \quad x^2 + 2x^2 - 2n^2 - 1 = 4x^2 \Rightarrow x^2 - 2x^2 - 1 = 0$$

$$(n^2 + 2)(n^2 - 2) = 0 \Rightarrow n^2 = 2 \Rightarrow 1, 2, 4 \Rightarrow q = \frac{1}{2}$$

$$S_4 = a_1 \left(\frac{q^4 - 1}{q - 1} \right) = 1 \left(\frac{1 - \frac{1}{16}}{1 - \frac{1}{2}} \right) = 1 \left(\frac{\frac{15}{16}}{\frac{1}{2}} \right) = \boxed{\frac{15}{8}}$$

۲

$$q^4 + q^3 + q^2 + q + 1 = \frac{121}{11}$$

$$a_1 = 2 \times 4 \times 4$$

$$S_5 = a_1 (q^4 + q^3 + q^2 + q + 1) \Rightarrow = 2 \times 4 \times 4 \times \frac{121}{11} = \boxed{352}$$

۳

$$1, \dots, A, \dots, 4 \times 4 \rightarrow \text{حساب} \Rightarrow A = \frac{1 + 4 \times 4}{2} = \frac{17}{2} = 8.5$$

$$1, \dots, B, \dots, 4 \times 4 \rightarrow \text{حساب} \Rightarrow B^2 = AC \Rightarrow B^2 = 4 \times 4 \Rightarrow B = \pm 4$$

$$\begin{cases} A + B = 8.5 + 4 = 12.5 \\ A + B = 8.5 - 4 = 4.5 \end{cases}$$

۴

$$-2 \times 4, -\frac{9 \times 4}{2}, \dots \rightarrow -2 \times 4, -\frac{9 \times 4}{2}, \dots \Rightarrow a_n = -2 \times 4 + (n-1) \times \frac{1}{2}$$

$$n = 10 \Rightarrow -2 \times 4 + \frac{10}{2} \times \frac{1}{2} = 1$$

$$12 \times 8, a_2, \dots \rightarrow a_n = 12 \times 8 \times q^{n-1}$$

$$n = 1 \Rightarrow 12 \times 8 \times q^{1-1} = 1$$

$$12 \times 8 \times q^0 = 1 \Rightarrow \boxed{q = \frac{1}{96}}$$

۵

a_r, a_v, a_q $\begin{matrix} & \searrow & \searrow \\ & r_q & r_q \\ a_1+rd & a_1+vd & a_1+ld \end{matrix}$ $\frac{a_1+rd}{a_1+vd} = \frac{a_1+ld}{a_1+vd} \Rightarrow \cancel{a_1r} + rda + rvd = \cancel{a_1r} + lra + rvd$ $rd(1+d+a) = 0 \Rightarrow \boxed{d=0} \text{ or } \boxed{d=-\frac{a}{1+a}}$ دون المثلثات في المثلثات $rd^2 = -rad$	6
a_r, a_v, a_Λ a_1+d, a_1+vd, a_1+ld $\frac{a_1+rd}{a_1+d} = \frac{a_1+ld}{a_1+vd} = q = r$ $\cancel{a_1r} + qd^2 + rad = \cancel{a_1r} + lra + vld$ $rd^2 = rad$ $d(d-a) = 0 \Rightarrow \begin{cases} d=0 \\ d=a \end{cases} \Rightarrow q = r$ $a_{10} = \frac{1}{\varepsilon} \times r^9 = r^9 = 128$ $a_n = a_1 q^{n-1} \Rightarrow a_1 = \frac{1}{\varepsilon}, q = r \Rightarrow n = 10$	7
rar, rar, a_ε raq, raq, aq^3 $\begin{matrix} & \searrow & \searrow \\ & r_q & r_q \\ rar & rar & a_\varepsilon \end{matrix}$ $aq^3 - rar = rar - raq$ $q^3 - r = r - 3$ $(q-1)(q-3) = 0 \Rightarrow \boxed{q=3}$	8
$r, \frac{1}{\varepsilon}, \dots$ $a_n = r \frac{n(n-1)}{\varepsilon} = \frac{n-n+1}{\varepsilon} = \frac{q-n}{\varepsilon}$ $\frac{\frac{q}{\varepsilon} + n}{\frac{q}{\varepsilon} - \varepsilon} = \frac{\frac{1}{\varepsilon} + n}{\frac{1}{\varepsilon} - 0} = -1 + n$ $\frac{q-1}{n+\frac{1}{\varepsilon}} = \frac{n+\frac{1}{\varepsilon}}{n+0} \Rightarrow \frac{\varepsilon n - \varepsilon}{\varepsilon n + 1} = \frac{\varepsilon n + 1}{\varepsilon n + 0}$ $\Rightarrow 14n^2 + \varepsilon n - \varepsilon = 14n^2 + 1 + 14n$ $\varepsilon n = -21 \Rightarrow n = -\frac{21}{\varepsilon}$ $q = \frac{-r_0}{\frac{-21}{\varepsilon}} = \frac{-\frac{r_0}{\varepsilon}}{\frac{-21}{\varepsilon}} = \boxed{\frac{a}{\varepsilon}}$	9
$a_1 + a_\varepsilon + av = a_1(1+q^3+q^4) = vr$ $\begin{matrix} \downarrow & \downarrow & \downarrow \\ a_1 & a_\varepsilon & av \\ \downarrow & \downarrow & \downarrow \\ a+d & a+vd & a+ld \end{matrix}$ $a+d = aq^3 \Rightarrow d = a(q^3-1)$ $a+vd = aq^4 \Rightarrow vd = a(q^4-1)$ $\frac{vd}{d} = \frac{a(q^4-1)}{a(q^3-1)}$ $q = q^3 + 1 \Rightarrow q^3 = 1 \Rightarrow q = r \Rightarrow a(vr) = vr \Rightarrow a = 1$ $1, 1, 4\varepsilon \Rightarrow \begin{cases} a+d=1 \\ a+vd=4\varepsilon \end{cases} \Rightarrow a=1 \Rightarrow \boxed{d=v} \text{ or } \boxed{d=0}$	10

⑦ $d = a(q^3-1)$

$$a+vd = aq^4 \Rightarrow a(1+q(q^3-1)) = aq^4 \Rightarrow q^4 - q^3 + 1 = 0$$

$$(q^3-1)(q-1) = 0 \Rightarrow \begin{cases} q^3=1 \\ q=1 \end{cases} \Rightarrow \boxed{d=a}$$